pPA =98
dmcp = 30
dlcp =10
spcp =0
tlp ;= 6min
t2A = 4min
t3A = 4min
t4A ;= 10min
xpa = 2100
xsp = 2100

Assignment to 5.3.2

IMCf := 3820

POHIf :

POH2f := 11480

POH3f :

POHA4f :

ACf := 76326

SCf := 114489

DMC := dmcp-xpa + dmep-xpp

DMC =

28600

27540

10600

IMCv := 0.03-DMC

IMCv =

pohlv := 0.5min !

pB:= 107

dmcep = 32
dlcg == 8

spcg = 2

tlg := 4min
t2g := 2min
t3g := 3min
t4g := 8min
xpp := 4000
xsg = 3960
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imcp =

pohlp :=

IMCf + IMCv

dmc
DMC A

POHI1f + POHlv
tlA-XpA + tIB-XpB

Assignment to 5.3.2

poh2v := 0.3min !

poh3v := 0.45min !

poh4v := 0.3min !

POHl1v:

= pohlv-tlp-xpa + pohlv-tlg-xpp

POH1v =

POH2v :

= poh2v-t2-xpA + poh2v-t2g-xpp

POH2v =

POH3v :

= poh3v-t35-xpA + poh3v-t3g-xpp

POH3v =

POH4v :

= poh4v-t4 o -xpp + pohdv-t4p-xpp

POH4y =

tla

POH2f + POH2v 0

t2A-XpA + t2B-XPB

POH3f + POH3v 3

t3A-XpA + 3B XPB

. IMCf + IMCv
imcg:= ————dmcp
DMC

imcg =

POHIf + POHlv
pohlp = ‘tlg

tlA-xpa + tIB-XpB
poh1g =

POH2f + POH2
poh2p = A

t2A-XpA + t2B-XpB
poh2g =

POH3f + POH3
poh3p := Y 3

t3A-XpA + t3B-XpPB
poh3g =
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Assignment to 5.3.2

POH4f + POH4v POH4f + POH4v
pohdp = t4A pohdp := .
t4A-XpA + 4B XPB t4A-XpA + t4B-XPB

poh4, = pohdg =

mcp = dmcp + imcp + dlcp + pohlp + poh2a + poh3p + pohda + spca

mcpg := dmcg + imcg + dlcg + pohlg + poh2g + poh3p + poh4p + spcp

MCy = mcg =
MCOGSA := mcp-Xsp MCOGSRg := mcp-xsp
MCOGS, = MCOGS; =

MCOGS := MCOGSp + MCOGSg
MCOGS =
ACv := 0-MCOGS

SCv := 0-MCOGS

ACf + ACv ACf + ACv
aCA = —————————-ImcC aCB .= ————————ImcC
A7 "Mcogs A B “Mcogs TP
ac, = acg =
SCf + SCv SCf + SCv
SCA = —————————-mcC SCB .= ——————————m¢C
A7 "Mmcocs A B "Mcogs P
SCp = SCg =
fCA = mCp + acp + SCA tcg := mcB + acp + scp
tCA = tCB =
TA := PA — fCA B := PB — ICB
My = rg =
Cost-of-sales results accounting
RA = 1A-XSA Rp = rg-xsp

a532e01.mcd



Assignment to 5.3.2

Rg =
R:=Rp +Rp
R =
Total cost results accounting
SA == PA-XSA SB := PB'XSB
Sp = Sg =
S:=SA + S
S =
ICHp = ch~(pr - st) ICg = ch-(xpB - XSB)
IC, = ICg =
IC:=ICx + ICR
IC =
TPA := SA + ICA TPg := Sg + ICp
TPg =

TP, =
TP:= TPp + TPp
TP =
MCOPpg := mcp-xpp

MCOPA = mca-Xpa

MCOP,

MCOP, =
MCOP := MCOP, + MCOPg

MCOP =
ACA = acp-XSA ACRg := acp-Xsp
ACg =
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Assignment to 5.3.2

AC:= ACp + ACp
AC =

SCA = SCA'XSA SCR := scp-Xsp

SC, = SCq
SC:= SCx + SCp

SC=

TCOPp := MCOPp + ACp + SCp TCOPpg := MCOPpg + ACg + SCp
TCOP, = TCOPg =
TCOP := TCOPp + TCOPp

TCOP =

Ry = TP — TCOPy Rp = TPg - TCOPR
Ry = Rg =

R:= Rp +Rp
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Assignment to 5.3.2

Legend:
Index A, B for products

p = Selling price

dmc = Direct cost of materials per unit
dic = Direct cost of labour per unit

spc = Special direct production cost per unit

t1 = Production time in Direct Production Cost Centre 1 per unit

t2 = Production time in Direct Production Cost Centre 2 per unit

t3 = Production time in Direct Production Cost Centre 3 per unit

t4 = Production time in Direct Production Cost Centre 4 per unit

xp = Quantity of goods produced

xs = Quantity of goods sold

IMCf = Fixed indirect cost of materials

POH1f = Fixed production overhead 1 (in Direct Production Cost Centre 1)
POH2f = Fixed production overhead 2 (in Direct Production Cost Centre 2)
POH3f = Fixed production overhead 3 (in Direct Production Cost Centre 3)
POHA4f = Fixed production overhead 4 (in Direct Production Cost Centre 4)
ACf = Fixed administration cost

SCf = Fixed sales cost

DMC = Direct cost of material

IMCv = Variable indirect cost of material
poh1v = Variable production overhead 1
poh2v = Variable production overhead 2

in Direct Production Cost Centre 1) per minute
in Direct Production Cost Centre 2) per minute
poh3v = Variable production overhead 3 (in Direct Production Cost Centre 3) per minute
poh4v = Variable production overhead 4 (in Direct Production Cost Centre 4) per minute
POH1v = Variable production overhead 1 (in Direct Production Cost Centre 1)

POH2v = Variable production overhead 2 (in Direct Production Cost Centre 2)

POH3v = Variable production overhead 3 (in Direct Production Cost Centre 3)

POH4v = Variable production overhead 4 (in Direct Production Cost Centre 4)

imc = Indirect cost of materials per unit

poh1 = Production overhead 1 per unit

poh2 = Production overhead 2 per unit

poh3 = Production overhead 3 per unit

poh4 = Production overhead 4 per unit

mc = Manufacturing cost per unit

MCOGS = Manufacturing cost of goods sold

ACv = Variable administration cost

SCv = Variable sales cost

ac = Administration cost per unit

sc = Sales cost per unit

tc = Total cost per unit

r = Result per unit

R = Result

S = Sales (value), turnover

IC = Change in inventory of finished goods

TP = Total performance

MCOP = Manufacturing cost of goods produced

AC = Administration cost

SC = Sales cost

TCOP = Total cost of goods produced

—_~ o~~~
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